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So, X =1
6. In the following reaction sequence.
PCls + CaHsOH — A
A+PCls—B
How many non-ionisable H atom are present in B.
Ans. (2)

Sol. 3C2Hs0OH + PCls — 3CaHsCl + HaP O3
HaPQa + PCla —— H4P20s
Pyrophasphorous acid
o} o]
I Il



Ans.
Sol.

Ans.

No. of non-ionisable hydrogen atoms are two.

|dentify diamagnetic species from following.

(1) Ka[Cu(CN)4] (2) K2[Cu(CN)a] (3) Ka[Fe(CN)e] (4) Ka[FeClg]
(1

Complex No. of unpaired

electrons

(i) Ka[Cu(CN)4] Cu*' =3dw 0 DM

(i) K2[Cu(CN)4] Cu®* =3d° 1 PM

(iii) Ka[Fe{CN)s] Fed* =3d° 5 PM

(iv) Ka[FeCls] Fex*  =3d° 4 PM

We have to prepare a buffer solution of NHs and NH4Clwhich have pH = 8 26. For this initially we have
1 litre 0.2 M ammonia solution, then how much amount of NH4Cl in gram is added for this [pks = 4.74 &
GMM of NHaCl=53.5 g]

(107)
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Sol.

Ans.

Sol.

10.

Ans.

Sol.

".

pn=8.26 pUn =514
NHa + NHsCl = Basic buffer solution.
[NH4CI]

[NH;]

INH,CT

[NH;]

poH = pe + lag

574=474 +log

[NH4CI] =10
[NH,4]
Mueer = ey = 2 mole
=2x53.5 =107 gram.

A compound AB: dissociate with half-life 200 sec and half-life is independent of concentration of ABa,
find time taken for 80% dissociation of AB2

(1) 467 sec (2) 100 sec (3) 326 sec (4) 587 sec

(1

T . o \ )
As _2"5 independent an initial concentration so reaction is 15t order.

= 2303|0{ 100 )
k 100-x%,

t= g'—a—(ExZU[llu @)

0693 20

_ 2.303x200
0.693
=664 65 x07 =46666~ 467 sec

xlogs

Find correct order of covalent character in
CaFz, CaClg, CaBr2, Calz2
(@ (b) (c) (d)
()a<b<c<d (2)b<c<a<d (3c<c<b=<a (4)d<c<a<b
(1
As per Fazan rule as the size of anion increases covalent character increase
So order of covalent character is
= CaFz < CaClz < CaBrz < Calz2

Assertion : LiF is less soluble in water
Reason: Li* has small size, thus it has very low hydration enthalpy

1) Aeeertinn i trie Reaenn ietrmia and Reaenn ic rarrart svnlanatinn nf Aecartinn
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(2) Assertion is true, Reason is true and Reason is not correct explanation of Assertion
(3) Assertion is true and Reason is false
(4) Assertion is false and Reason is true
Ans. (3)
Sol.  LiF is |less soluble due to high value of lattice energy.
Li* has small size and has very high hydration enthalpy.
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12. Assertion : Boric acid is a weak acid.
Reason: Bonc acid does not release its own H*, but it accepts OH-from water and release H* from water.
(1) Assertion is true, Reason is true and Reason is correct explanation of Assertion
(2) Assertion is true, Reason is true and Reason is not correct explanation of Assertion
(3) Assertion is true and Reason is false
(4) Assertion is false and Reason is true
Ans. (1)
Sol. Itis a weak monobasic acid, soluble in water and in agueous solution the boron atom completes its octet
by accepting OH- from water malecules:
B(OH)a(ag) + 2H20(¢) = [B(OH)4]"(aq) + HaO*(aq). pK =915
It, therefore, functions as a Lewis acid and not as a proton donor like most acids.
Since B{OH)az only partially reacts with water to form HsO* and [B(OH)4l-, it behaves as a weak acid

13. Faor three compounds of Mn
MnF2z, MnF3, MnFa4
Find magnetic moment (Spin only) for the compound which has highest axidising tendency.
[Report your answer to nearest integer]

Ans. (5)

Sol.  the change from Mn?* to Mn* results in the half-filled (d®) canfiguration which has extra stability.
So, MnFa has most oxidising tendency
MnFs = Mn®* = 3d® n=4

w= Ja(@+2) = J24BM =489 BM ~ 5BM

14. Assertion : Finely divided gold particles are red in colour as concentration increase colour changes from

purple to blue and finally Golden.

Reason: The colour particle depends on wave length of light scattered.

(1) Assertion is true, Reason is true and Reason is correct explanation of Assertion

(2) Assertion is true, Reason is true and Reason is not correct explanation of Assertion.
(3) Assertion is true and Reason is false

(4) Assertion is false and Reason is true

Ans. (1)

Sol.  The colour of colloidal solution depends on the wavelength of light scattered by the dispersed particles
The wavelength of light further depends on the size and nature of the particles. The colour of colloidal
solution also changes with the manner in which the observer receives the light. For example, a mixture
of milk and water appears blue when viewed by the reflected light and red when viewed by the
transmitted light. Finest gold sol is red in colour, as the size of particles increases, it appears purple,
then blue and finally golden

15. Assertion : Phenolphthalein is a pH dependent indicator which is colourless in acidic medium and
change its colour to pink in basic medium.
Reason: Phenolphthalein is weak acid that does not dissociate in basic medium.
(1) Assertion is true, Reason is true and Reason is correct explanation of Assertion
(2) Assertion is true, Reason is true and Reasan is not correct explanation of Assertion.
(3) Assertion is true and Reason is false
(4) Assertion is false and Reason is true
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Ans. (3)
Sol. HPh = H* + Ph-
Colourless Pink colour
(acidic medium) (Basic medium)
16. 10 mil of CuSQOa solution is treated with excess of Kl solution, thus the liberated Iz required 20 ml, 0.02 M
hypo solution find the molarity of CuSOa4 solution using following reactions.
2Cu? +4I- —— Cu2la + 12
l2+ 25205 —— 21~ + S40s*
Then malarity of CuSOs4 salution is x 10=M
Ans. (4)

Sol. Mili eq. of Cu?* = mili eq. of I2 = mili eq. of Hypo
1[Mx10] = 1[0.02x20]

M = 4x102
ﬁ H>-CN
17. EtO—C—CHz—CHz—gC T ke
H-0
0
ﬁ H (I% H Q
25— Il H>—CN
(1) H—C—CHE-CH?-gC 2 H—C—CHz—CHa—QrC -
2 - 2 L
s
3) EtO—C—CHrCH)«gC @) EtO—C—CHz—CHz—gc
Ans. (1)

0
7 [ M Oy
I H>-CN E 2 C—
Sol. EiO—C—CHz—CHz—gC ~CN  DIBALH H-C-CHz_cm_gC
H20

18. Match the following

(1) Plant Nutrient (A) Domestic sewage

(2) Heavy toxic metals (B) Chemical fertilizers

(3) Micrabes (C) Chemical factory

(4) Sediments (D) Strip mining

(1) (1) - (B), (2) - (C), (3) - (A), (4) - (D) (2) (1) - (C), (2) - (B), (3) - (A), (4) — (D)

(3) (1)=(B), (2) - (C), (3) - (D), (4) - (A) (4) (1) = (D), (2) = (C), (3) - (A), (4) - (B)
Ans. (1)

Sol. From NCERT
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19. The reagents required for the following canversions is
NO2 OH
NHz |
(1) HNQ2 , KI, Fe/H*, HNO2, Warm water (2) KI, HNO:, Fe/H* HNO2z, Warm water

(N Fa* HNO- K HNOW \Warm water AV HNO- Fald+ K1 \Warm water HROW
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Ans.

OH
1 HNO, 1 FelH*
2 N0,
Sel. 3. Wam Water
|
20. Which is not a benzenoid compound
NH2z
(1) © @) 3) @) ge
Ans. (1)
Sol. © is not a benzenoid compound
21. an hydrolyses produce carbalic acid .
(1) Cumene (2) Benzene diazonium chloride
(3) Benzyl chloride (4) Ethyl ketal
Ans. (2)
N.C® OH
Sol. @
22, Methylcyclohexane on mono-chlonnation gives how many product (including stereoisomers).
Ans. (12)
CHs CH2-ClI
Shd® Cj Cf CL
Sol.
1 1 4

RR RS RR RS E&Z
SR SS SR SS
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23. Ethylmagnesium bromide with methanaol gives 2.24 mi gas at STP. Weight of the gas in mg.
Ans. (3)
Sol.  C2HsMgBr + CHzOH —— CzaHe(g) + CHaOMgBr
Volume of ethane = 2.24 mi
2.24 224

Male of eth = - ="
ole o1 einane = 57200  224x10°

224 30 . -
Weight of ethane = me-S x 103gm =3mg

24, How many of the given is a broad spectrum antibiotic.
Peniciline G, Ofloxacin, Terpinol, Salvarsan

Ans. (1)

Sol. Ofloxacin is a broad spectrum antibiotic.

25. Which of the following is animal starch:

(1) Glycogen (2) Amylose (3) Amylopectin (4) Cellobiose
Ans. (1)
Sol. Glycogen is an animal starch:

26. Which is correct order of prnority of functional groups as per [IUPAC
(1) RSOsH > RCOOR > RCOCI > RCONH2 (2) RCOOR > RCONH2 > RSOsH > RCOCI
(3) RCOOH > RCOCI > NHz > C=0 (4) RCOOR > RSOsH > RCOCI > RCONH2



Ans. (1)
Sol.  The correct order of priority of functional groups as per IUPAC is
RS0OsH > RCOOR > RCOCI > RCONH:2

27. Which process takes place in vulcanisation of rubber
(1) Neoprene is heated with sulphur (2) Isoprene is heated with sulphur
(3) Isoprene is heated with styrene (4) Neoprene is heated with Styrene
Ans. (2)
CH, H,
I
~CH, —C — CH —CH, —~ el e
M)
Sol. 8 8§ ?
I I
-CH,—(IZ*CH —CH, ~— = CH= CH = CH— CH,™
CH,
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